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(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:

a) Unit of density is

A) kg

A) 100

cycle

A)Aircraft
e) Unit of calorific value is

A)KJ

A)Petrol

h)  One tonne refrigerating machine means that
A) one tonne is the B) One tonne of
total mass of the

machine

i) The C.O.P of a reversed carnot cycle is most strongly depends on

A) Evaporator

temperature temperature
j)  Piston ring is made from which material
A)Steel B) Cast iron

k) Mechanical efficiency is equal to

B) kg/m®

B) 0.1
c) Petrol engine is also known as
A)Constant pressure

B) N/m

f)  The diesel engines are also known as
A)Spark ignition

g) A carburetor is used to supply

B) air and petrol

B) condenser

B) Constant
volume cycle

d) Which of the following is E.C.Engine
B) Petrol engine

refrigerant is used
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C) joule
C) 10

C) Pressure and
volume

C) Steam engine

C) KJlkg

................. engines
B) Otto engine

C) Dual engine

C) Petrol and
diesel

C) One tonne of
water can be

converted into ice

C) specific
refrigerant

C) Aluminum

D) none of these
D) none of these

D) None of these

D) None of these
D) None of these
D) None of these

D) diesel

D) None of the
above

D) refrigerant

D) brass
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Q-2

Q-3

(A)
(B)

A)L.P/B.P B) B.P+I.P C) B.P/ILP D)B.P=I.P

Advantage of gaseous fuel is that 01
A) it can be stored B) it can mix C) it can displace D) all of the
easily easily with air more air from the mentioned
engine

On psychometric chart, sensible cooling is represented by 01
A) horizontal line B) inclined line C) vertical line D) none of the above
Connecting rod is made from 01
A)Alloy steel B) Cast iron C) Mild steel D) bronze

Attempt any four questions from Q-2 to Q-8
Attempt all questions (14)
Give the difference between S.I engine and C.I engine. 07
Explain working of four stroke diesel engine with figure. 07
Attempt all questions (14)
Define the following terms: 07

Q-7

Q-8

(A)

(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)
(©

(A)
(B)

(1) Cylinder bore, (2) stroke, (3) swept volume, (4) clearance volume,
(5) Compression ratio (6) piston speed (7) mechanical efficiency.

Explain spark plug with neat sketch. Also give reasons of failing of spark plug. 07
Attempt all questions (14)
Explain about different kinds of Alternative Fuels. 07
What is CNG ? State its advantages. 07
Attempt all questions (14)
What is vapour compression refrigeration? Explain the cycle with schematic diagram. 07
Define Refrigerant and also give desirable properties of refrigerants. 07
Attempt all questions (14)
Explain window air-conditioning and split air-conditioning. 07
Explain reverse carnot cycle with P-V and T-S diagram. 07
Attempt all questions (14)
Differentiate between two stroke and four stroke cycle of 1.C Engine. 04
Draw Psychometric chart. Indicate all properties on its clearly. 03
Explain the working of water cooler. 07
Attempt all questions (14)
Describe the safety issue while using CNG and LPG as fuels. 07

A diesel engine consumes 6.5 kgs of fuel/hr. If brake power of engine is 22.4 kW and 07
mechanical efficiency is 85 % then find:

(I) Indicated thermal efficiency,

(I1) Brake thermal efficiency,

(1) Specific fuel consumption on brake power.
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Attempt any four questions from Q-2 to Q-8
Q-2 ol Yslloll Y sA
(A Auae ARt ol AU ABot 1A dslelcdt W,
(B) s wd wR ¥s N3t AleBotoy 511 A A
Q-3 ol Yslloll Y sA
A oAl 2RA cauvauR@et s2:
(1) RAssR 6llR, (2) s, (3) QAR AU , (4) BAURR AYH,
(5) 1920t AN (6) Qreat 1ls (7) AdLsc stletudl.
(B) YUS WA U U5 1ol yHestall. 1ULs Lol lsgn actioll $1RE1 UL AL,
Q-4 ol Yslell Y s
(A QLY ysell As@s suaL QA el
(B) At 9 D? Aol sllel WU
Q-5 ol Yslell Y s
(A Qur sQatel AzxaAet 9 B? Awotislal gl WA WBsA UHALAL
(B)  Ygloezal catvuRcl 53 A 2dooeotl Bve{lal dpetetsil ugl AU,
Q-6 oltll uslloll yuA 82U
(A) (A8 AR solatellor wa elle AR sodlatellor umes Al
B) Y-l el d-AU st wdell Rerl slole wsse UHoA.
Q-7 oltll Uslloll yaud 82U
(A 2w AlBololl A W25 Aol UR RS URASE AR dslald .
(B)  waslARs wé 2 Aetl utetdl A uR Wwreud YR 532,
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(€ ez getroll sto3 dnen Al 07
ol ysloll yau s (14)
(A Sugl A3 AR uA AcUlell GUAL sl dwd Yeu UHRUe] adet s2. 07
(B) Sl AeBat 6.5 BA SURL / SCLsN AURAA 52 . B AlBotall Qs War 224 kw07
& WA AR5 stedattcll 85% B Al Ul
(1) YR & siadl,
(N As AA stdaHdl,

(1) B8 WA UR USSU olcdBl dURAL.
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